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 CHAPTER 1

P. E. 1.1
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P. E. 1.2
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Prob.1.1

See text
Prob. 1.2

Noise is any signal which interferes with and corrupts the desired signal.  Noise is an interference and constitutes a major limitation to communication system.

Prob. 1.3

(a) 10log10 0.036 = - 14.43 dB
(b) 10log 42 = 10.23 dB

(c) 10log 508 = 27.06 dB

(d) 
[image: image3.wmf]3

10

10log(310)54.77 dB

´=


Prob. 1.4


[image: image4.wmf]14

10

0.3

10

2

10

4.2

10

(a)    140 dB = 10log10

(b)    3 dB = 10log100.501

(c)    20 dB = 10log10100

(d)    42 dB = 10log1015,848.93

GG

GG

GG

GG

-

-

-¾¾®=

-¾¾®==

¾¾®==

¾¾®==


Prob. 1.5
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Prob. 1.6
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Prob. 1.7
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(b)
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Prob. 1.8
B = 2 MHz,    S/N = 102.5  = 316
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Prob. 1.9

(a) S=250 W,  N = 20 W,  B = 3 MHz
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Prob. 1.10
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Prob. 1.11
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CHAPTER 2

P. P 2.1
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P.P. 2.2
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These are sketched below.
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P.P. 2.3


Comparing the given signal with the square wave in Table 2.2, we notice that 
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P.P. 2.4

We comparing the given signal with the triangular  wave in Table 2.2, we notice that
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The phase spectrum is zero, while the amplitude spectrum is shown below.
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P.P. 2.5
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P.P. 2.6

Cn  =  
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Using integration by parts,




u  =  t  and  du  =  dt




dv  =  e–jn(tdt  which leads to  v  =  –[1/(2jn()]e–jn(t



Cn  =  
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      =  [j/(n()]cos(n() - [1/(2n2(2)](e–jn( – ejn()



Cn  =  
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Thus

f(t)  =  
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The amplitude and phase spectra are shown next.
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(b)

P.P. 2.7
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The power spectrum is shown below.
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P.P. 2.8

(a) 
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(b)   
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(c )  
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P.P. 2.9
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